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QUESTION 1

You create a new dynamic cluster with the following parameters: Number of servers: 2 Listen port: 8101 Enable
calculated listen ports: true 

To which two port numbers will the resulting two dynamic servers bind? (Choose two.) 

A. 8101 

B. 8102 

C. 8103 

D. 8100 

E. 8104 

Correct Answer: AD 

 

 

QUESTION 2

Which three Administration Console tasks require you to obtain the configuration lock of a production mode domain?
(Choose three.) 

A. Stop an application deployment 

B. Create a new JDBC data source 

C. Change the servers listen port 

D. Suspend a running server 

E. Add a server to an existing cluster 

F. Create a new administrative user 

Correct Answer: DEF 

 

QUESTION 3

You zipped up the domain\\'s config directory on the administration server\\'s machine before making some major
configuration changes. You wait to activate after all the changes have been saved. After your changes are in, hinges
start failing badly. You want to go back to the old configuration. 

What is the best course of action? 

A. Undo the changes you made manually by using the administration console or WLST. 

B. 1. Stop the administration server. 
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2. 

Replace the config directory on the administration server\\'s machine with your backup. 

3. 

Restart the administration server. 

4. 

Stop the managed servers on each machine. 

5. 

Replace the config directory on the machine with your backup. 

6. 

Restart the managed servers on the machine. 

C. 1. Stop the administration server. 

2. 

Extract only the config.xm1 file from the zip file. 

3. 

Overwrite config.xm1 on the administration server\\'s machine with this extracted file. 

4. 

Restart the administration server. 

D. 1. Stop the administration server. 

2. 

Replace the config directory on the administration server\\'s machine with your backup. 

3. 

Restart the administration server. 

Correct Answer: D 

 

 

QUESTION 4

A domain defines four machines: host01, host02, host11, and host12. It also defines a dynamic cluster whose Machine
Name Match Expression is set to the value “host1*”. 

Which of the machines will be used to host servers in this dynamic cluster? 
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A. host01 and host11 only 

B. host11 and host12 only 

C. host11 only 

D. all machines 

E. the default machine of the domain 

F. host01 only 

Correct Answer: B 

Reference: https://docs.oracle.com/en/middleware/fusion-middleware/12.2.1.3/ashia/using-
dynamicclusters.html#GUID-7EE8875B-A8E8-40BE-928B-D0456B29A09F 

 

QUESTION 5

Consider a domain that includes a dynamic cluster of three servers. Your network administrator requires all servers to
bind the specific domain name mycompany.com. 

Which Administration console action implements this requirement? 

A. Use a $(macro)in the server templates listen address. 

B. Assign each dynamic server a separate machine. 

C. Create multiple server templates for the cluster. 

D. Update the cluster\\'s listen address prefix. 

Correct Answer: A 
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